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Motivation: endow a Kaehler structure; better understand the role of the polytope. Outcome: toric manifold is
Kaehler

Def. of Kaehler manifold. Holonomy: U(n). (X J j w) 5(“ Jv)=wluv). j()u Jv) “J(W) dw=0.

Example: CAn = TA* RAn (also PAn and its submanifolds)

Newton's equation and Hamiltonian mechanics on TA* RAn

T”n action on CAn

Definition of moment map.

Eg. CAn -> R*n_{>=0} => Lagrangian torus fibration

The exact sequence and corresponding torus action K X ____‘ \(

Moment map of subgroup action

Naive quotient is not symplectic: dimension is not correct *

Symplectic quotient € /K MM wm() al >< __)L UM Gue, -|- <l. e . I(‘
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Symplectic structure descends to quotient - d({p,&)) = Ly Mam ) ? hf R .

Eg. P72, K PM

Residual torus action and moment map K ““' (—> \{ -inw “g Al’&"“ /’l-l{ad ]"““"“‘ l&‘) K)

Kempf-Ness theorem: symplectic quotient = GIT quotient T Ia /2
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